
https://www.pass4itsure.com/1z0-1072-21.html
2024 Latest pass4itsure 1Z0-1072-21 PDF and VCE dumps Download

 

 

 

1Z0-1072-21Q&As

Oracle Cloud Infrastructure 2021 Architect Associate

Pass Oracle 1Z0-1072-21 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1z0-1072-21.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-1072-21 Practice Test | 1Z0-1072-21 Study Guide | 1Z0-1072-21 Exam Questions                               1 / 4

https://www.pass4itsure.com/1z0-1072-21.html
https://www.pass4itsure.com/1z0-1072-21.html
https://www.pass4itsure.com/1z0-1072-21.html


https://www.pass4itsure.com/1z0-1072-21.html
2024 Latest pass4itsure 1Z0-1072-21 PDF and VCE dumps Download

QUESTION 1

Which two parameters are required in a back end set\\'s HTTP health check? (Choose two.) 

A. response body 

B. URL path 

C. timeout 

D. port 

E. status code 

Correct Answer: BD 

https://docs.cloud.oracle.com/iaas/Content/GSG/Tasks/loadbalancing.htm#Create Enter the Health Check 

details. 

Load Balancing automatically checks the health of the instances for your load balancer. If it detects an 

unhealthy instance, it stops sending traffic to the instance and reroutes traffic to healthy instances. In this 

step, you provide the information required to check the health of servers in the backend set and ensure 

that they can receive data traffic. 

Protocol: Select HTTP. 

Port: Enter 80 

URL Path (URI): Enter / 

The rest of the fields are optional and can be left blank for this tutorial. 

Click Create. 

 

QUESTION 2

An instance is launched with a primary VNIC that is created during instance launch. Which two operations are true when
you add secondary VNICs to an existing instance? (Choose two.) 

A. You can remove the primary VNIC after the secondary VNIC\\'s attachment is complete. 

B. You can remove the secondary VNIC later if it is not needed. 

C. The primary and secondary VNIC association should be within the same Availability Domain. 

D. It is not possible to connect two VNICs to an instance. 

Correct Answer: BC 
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https://docs.cloud.oracle.com/iaas/Content/Network/Tasks/managingVNICs.htm 

 

QUESTION 3

Which storage service is used on OCI for a Data Transfer Service job? 

A. An instance with enough storage to accommodate the job 

B. An object bucket 

C. A File System service instance 

D. Block Volume 

Correct Answer: B 

https://docs.cloud.oracle.com/en-us/iaas/Content/DataTransfer/Concepts/overview.htm 

 

QUESTION 4

A financial firm is designing an application architecture for its online trading platform that must have high availability and
fault tolerance. Their solutions architect configured the application to use an Oracle Cloud Infrastructure Object Storage
bucket located in the US West (us-phoenix-1) region to store large amounts of financial data. The stored financial data
in the bucket must not be affected even if there is an outage in one of the Availability Domains or a complete region.
What should the architect do to avoid any costly 

A. Create a new Object Storage bucket in another region and configure lifecycle policy to move data every 5 days. 

B. Create a lifecycle policy to regularly send data from Standard to Archive storage. 

C. Copy the Object Storage bucket to a block volume. 

D. Create a replication policy to send data to a different bucket in another OCI region. 

Correct Answer: A 

 

 

QUESTION 5

You have setup your environment as shown below with the Mount Target "MT" successfully mounted on 

both compute instances CLIENT-X and CLIENT-Y. 

For security reasons you want to control the access to the File System A in such a way that CLIENT-X has 

READ/WRITE and CLIENT-Y has READ only permission. 
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What you should do? 

A. Update the OS firewall in CLIENT-X to allow READ/WRITE access. 

B. Update the security list TWO to restrict CLIENT-Y access to read-only. 

C. Update the mount target export options to restrict CLIENT-Y access to read-only. 

D. Update the security list ONE to restrict CLIENT-Y access to read only. 

Correct Answer: D 
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